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36 If ABC 1s a triangle, then find the value of
tanA + tanB + tanC.

Je ABC Tdh 3rpIor & o tandA + tanB + tanC &1

AT ST IS |
A) tan Atan Btan C (B) tan Btan Atan C
C) tan Ctan Btan A (D) tan Btan Ctan A




37 If ABC 1s a triangle where sides a, b, c are
such that a* + b*+ ¢¢ = ab + bc + ac then find
tan“B + cot“C.

Ife ABC U& BId101 & T8l M98 a, b, ¢ W © &
@R+ P+ E=ab+bc+ ac & dl tan?B + cot2C &7

AT ST bIfoTY |
10 _ 11
A) = B) —
11 10
(C) = (D) Y



40 In a AABC if ZB = 60°, ZC = 45° and point D
internally divides BC in the ratio 1 : 3 then

sin ZBAD
sin ZC AD
AABC ¥, /B = 60° 3R /C =45°7% 3R fdg D
3RS WY A BC @I 1 : 3 B ITd H [AHIIST de]

1s equal to.

« « sinZBAD S
E;CsinLCAD INTeN T |
(A) 2+43 B) 3+4/5

(C) 1+Ve6 D) 1+43



41 In a right angled triangle ABC, ZB 1is right

angle if AB = 246 and AC - BC = 2 then
value of cosA.

b FHDIVT ST § /B GHGI & Afe AB = 2/6
3R AC - BC =22 @ cosA & A9 81T |




42 In a right angled triangle ABC, ZB = 90°, if
AC = 2.4/5 and AB - BC = 2 then value of
COS°A — cos“C is.

I TGO FBe # 2B F9dI07 © I AC = 2.4/5
3R AB - BC = 2 & @l cos?A — cos>C & A1 8T |

7
B) &
!
5



5 t
43 If seca = — then -

1s equal to—

4 1+tan” o
) tan \
Ife seco = — B, @l O; dNTeN ©—
4 l1+tan® a
(A) 12/25 (B) 9/25

(C) 3/4 (D) 1/25



44 It sina + cosf = 2 {0° <B, a < 90°} find

. (2004 A
Sin b HIA SIId PIulU |

A) V3/3 B) V3 /7
C) /3/2 D) J3/6




45 If sina. sec (30° + o) =1 {0° <a <90° then find

sino + cos2o.

Ife sina . sec (30° + o) =

1 {0° <o <90° &, T

sino + cos2o b7 919 STd hIToIV |

(A) 1 (
(C) 6 (

B) 7




46 If secO — cosB = 3/2 and 0 is an acute angle

then find sec6.

IS sech — cosO = 3/2 3R 6 Udh YADIU &, Al sech

BT HIE ST DITOTU |
(A) 1/3 (B) 1/2
(C) 2/8 (D) 1/7




47 If sin 3A = cos (A - 26°) find the value of ZA.

i< sin 3A = cos (A—26°) & Al LA &AM S Do |
(A) 15 (B) 14

/

(C) 18 (D) 29




48 It sin (0 + 18°) = cos 60° find cos 50.

IS sin (0 + 18°) = cos 60° &, Al cos 50 HT A §

DITTU |
(A) 1/9 B) 2/8

/

(C) 1/2 D) 5/1

Iy



49 If01s an acute angle and tan (46 — 50°) = cot(50°
— 0) find 6.

IS O TP YAV & 3R tan (46 — 50°) = cot (50° —
0) T, AT O BT | ST DITTY
(A) 25° (B) 30°
(C) 35° (D) 37°




50 If\/2+\/2+\/2+__m = cosecO find sec?0 +
cos-26.

?fo%(\/2+\/2+\/2+___oo = cosech &, Tl sec20 +

cos?2 20 BT |19 STd Ity
(A) S/6 B) 5/7
(C) 5/3 D) 3/3




Sl If\/12+\/12+\/12+___QO = sec?0 find tan*+

cot?0.

I \J12 4+ 12+ V12 1.0 = Sec?0 2, @l tan?+

cot20 T A SITd DITIU |
(A) 10/5 (B) 10/3
(C) 10/2 (D) 10/7




52 If\/6—\/6—\/6—...oo = cosec?0, find sec?0 +
cot?0.
Hfﬁr\/6_\/6_\/6_“_w = cosec?0 B, dI sec?0 +
cot?0 BT AT ST HIfTT |

(A) 1 (B) 2
(C) 3 (D) 4




GRS WI
(A) 15/5 (B) 18/4
(C) 14/4 (D) 17/4




54 If 2811‘12[

X

2

—) — 2 find X

1

-—.
X

1

X

Iie 2sin’ [“_x]zz B WM —— HTAAS

(A) -1
(€)1

2

(

3) 0

(.

D) 2

[ DIV |



55 Ifsin (2x—-20°) = cos (2y + 20°) find sec (x + y).
IfE sin (2x—20°) = cos (2y + 20°) &, Tl sec (x + y)
T HI ST DI |

A) 1 B) 5

\

C) V2 D) J3




56 f A+B=45°find (1 +tan A) (1 + tan B)

JTA+B=45° g dal (1 +tan A) (1 + tan
AT ST DITOTY |
(A) O (B)

1
(C) 3 (D) 2



57 if(l + cot A) (1 + cot B] = 2 find A + B.

/

Ifq (1 + cot A) (1 + cot
ST DITSTY |

(A) 125

(C) 166

3) =27, Al A+

(B) 135
(D) 165

3 P HI



58 If 2cos?0 = 3 sin6 find sin6 {0° < 6 < 90°}.

Ife 2co0s20 = 3 sinb T, A sind {0° < B < 90°} T AF
ST hIToTy |

(A) 1/5 B) 2/3

(C) 1/2 (D) 4/5




50 If x=a (sin0O + cosH), y = b (sinO — cos 0) find

2 2

X~ Y
a’> b’
If¢ x =a (sind + cosh), y =b (sin6 — cos 0) &,

2 yQ
>+ =5 I A A DI |

2 p
(B) 3
5

X
a

(A) 2
(C) 4 (D)




60 If x =cosec 6 —sin 0, y =sec 6 — cosO find x*y~?
(¢ +y? +3)
If¢ x = cosec B —sin 0, y =sec 6 — cosO B, AT 2 y?
X2 + y? + 3) DT A 1T DI |
A) -1 B) O
C) 1 (D) 2




61 lfa=tan0—-cot6, b=s1n06 + cos 0 find (a* + 4)
(b*— 1)=.
JC a=tan 6 —cot O, b =sin 6 + cos 6 T, AT (a%+ 4)
(b?— 1)2 BT A ST DITT |
A) O B) 1
C) 2 (D) 3




62 If sin O + cos B =x, y =sin 6 x cos 0 find the
value of xX'- 4x* y—-2x*+4y*+4y+ 1.
I sin®+cosO=x,y=sinB xcosO T a

N

X'-4x2y—2x°+ 4y*+ 4y+ 1 BT | AT DITOIT
A) -1 B) 1
(C) 2 (D) O




63 It a’=cosec—sin 0, b’ =sec 06— cos 0 find a* b~
(@ + br)
T & = cosec—sin 0, b* = sec O — cos 0 T, Al &2 b?
(@2 + b?) BT |19 =Id DI |
A) -1 B) O
C) 1 (D) 2




64 IfsecO—-tan 0 =3 find cos 6.

Jfe secO—-tan =38 Alcos O BT AH
(A) 3/2 B) S/3
(C) 3/5 D) 7/5

[T DIV |



tan0 + 1

65 Ifsec 6+ tan 6 =5 find

tan0 -1
. . tan©6+1
T secH+tan O6=573 d hT HI S
tan0O -1
PIFTT |
(A) 17/7 (B) 13/5

(C) 12/7 (D) 13/4



66 [fsec 0+ tan 6= 2++/5 find sin 6.

I secO+tan 6= 2 ++/5 & dl sin 6 &7 99 =74
Efg”%lQl

D) =

3 o2
SN B 5
5 3
SUING J5



67 If cosec O+ cotB= /10 +3 find sin 6.

J

¢ cosec O + cot 6 = J10 +3 % C

ST DIToTU |

(A
(C

3 1
) 5 B 75

5 1
) D T

sin 6 &




68 If xsinb + ycosH =4 and xcos6 - ysinb = 2
find x* + y°.
T xsin6 + ycos =4 3R xcosO - ysinh=27,
ar x2 + y2 &I 79 T DI
A) 10 B) 20
C) 25 D) 40




69 It £cose +

Y

sin® = m, Esirit-)%cos@:l find m.

a a
Er[;\c'{gcose+%sin8=m Esmﬁicose—l %\r arm
BT HIE ST DI |
0 2 2
x° Yy X Y
A) (o] B) \/a2+b2—2
2 2 2
xX° Yy X Y
C +Z_+9 D ~+=-1
( ) Na bz ( ) \/az b2




70 It xsin 6 + y cos 6 = zfind (x cos 6 — y sin 0)-.
IfE xsin @ + ycos 6 = zg, Al (xcos 6 — y sin 0)?
BT HIH ST HITOTT |
(A) ZQ+y2_x2 (B) x2_|_22_y2
(C) x% + y? — 22 (D) 22+ y? — x2




